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2015 Mk; Mz;L [_d; khjj;Nju;T - AA2 kl;lk;







tpguk; gad; tupr; 

nrYj;Jif 

&gh. 

rk;gsk; 120>000 x 12 1>440>000 1>440>000 

Nghf;Ftuj;Jg; gb 40>000 x 12 440>000  

fop : tupay;yhj Cu;jp tpLnjhif 

– jtizf;fhf 

 

50>000 x 12 

 

(600>000) 

 

tuptpjp Nghf;Ftuj;J/ Cu;jpg;gb 

Fwpg;G : Nghf;Ftuj;Jg;gb &. 50>000 ,Yk; Fiwthifahy; 

tuptpyf;F toq;fg;gLk; 

--- G+r;rpak;---  

kUj;Jtf; fl;lzq;fspd; kPsspg;G 85>500 85>500 

jdpg;gl;l njhiyNgrpf; fl;lz kPsspg;G 

Fwpg;G : murpjopd;gb 50% Md njhiyg;Ngrpf;fl;lzk; 

njhopy;rhu;  miog;GfSf;Fk; kPjp jdpg;gl;l  

miog;GfSf;Fk; gad;gLj;jg;gl;ljhff; fUjg;gLk; 

64>500 32>250 

2012/13 Mk; Mz;L ,yhgj;Jf;fhf 2013 Vg;uypy; ngwg;gl;l 

kpifA+jpak; 

Fwpg;G : kpifA+jpak;; fhrbg;gilapy;; tupaplg;gLk; 

360>000 360>000 

“gioa njhf;Ff;fspd;” tpw;gid Vw;ghl;Lf;fhd juF 50>000 50>000 

Copaj;jpypUe;jhd epajpr; rl;ltUkhdk; - 1>967>750 

 



tpguk;  &gh. 

tpw;gid kPjhd Njrpa fl;Lkhd tup 5>670>000 x 2% 113>400 

fop :  

cs;sPl;Lf;fhd Njrpa fl;Lkhd tup 

 

23>840 

 

guhkupg;Gr; nra;tjw;fhd Njrpa fl;Lkhd tup 

Fwpg;G : Nrit kPjhd Nj.f.t I kPsf;Nfhu KbahJ. 

 

- 

 

Kd; fhyhz;bypUe;J fPo; nfhzug;gl;l Nkyjpf Njrpa 

fl;Lkhd tup 

12>000 (35>800) 

,f;fhyhz;Lf;fhd Nj.f.t nghWg;G  77>600 

fop : khjhe;j jtizapy; nrYj;jg;gl;l Nj.f.t  (60>000) 

2014 – brk;gu; - 31 ,y; Kbtile;j fhyz;Lf;F gpyp 

gP]; epWtdk; nrYj;j Ntz;ba kPjp Nj.f.t 

 17>600 

 





tpguk; $l;L 
(+) &gh 

fop (-) 
&gh 

 
fzf;fpd;gb Njwpa ,yhgk; 

 
681>650 

 

 
fop : Nrkpg;Gf;zf;fpy; tl;b tUkhdk; 
 
Fwpg;G : tl;b tUkhdg; gpuptpy;> jdpahd tUkhd %ykhf 
tupaplj;jf;fJ. 

  
3>650 

 
nraw;ghl;Lf; Fj;jifapd; fPo; nrYj;jg;gl;l Xuhz;L Fj;jifj;njhif 

 
180>000 

 

 
nraw;ghl;Lf; Fj;jifapd; fPo; KOj;njhifahf nrYj;jg;gl;l njhif 

 
60>000 

 

 
KOj;njhifapd; gFjpf;fhd thlifg;gb 60>000/60 x 11  

  
11>000 

 
Fj;jifg;gb 
Mz;by; nrYj;jg;gl;l Fj;jifj; njhif  
 

 
 

15>00 x 11 = 165>000 

  
 
 

Fj;jifg;gb   (15>000 x 60) 1/5 = 180>000 
 

  

mDkjpf;fj;jf;f Fj;jifg;gb  
(Fiwe;jJ) 

= 165>000  165>000 

 
fzdpf; nfhs;tdTf; fpuak; 

 
150>000 

 

 
,wf;Fkjp nra;ag;gl;l nkd;nghUs; nfhs;tdTf; fpuak; 

 
25>000 

 

 
ngWkhdj;Nja;T 
fzdpf;F 

 
 

(150>000 x25%) = 37>500 

  
 
 
 

43>750 
,wf;Fkjp nkd;nghUSf;F  (25>000 x 25%) = 62>500   
 = 43>750 
kpd; gzpkidg; guhkupg;G (tupr;rl;lg;gb)   
Fj;jif xg;ge;jk; kPjhd Kj;jpiu tup  9>000  
ed;nfhil 3>000  
 1>108>650 223>400 
 (223>400)  
tzpfj;jpd; epajpr;rl;l tUkhdk; (,yhgk; my;yJ el;lk;) 885>250  

 



tpguk;  &gh. &gh 

Copa tUkhdk;     

rk;gsk;  120>000 x 12 1.440>000  

fspahl;lg;gb  240>000  

Cu;jp ed;ik 

 

Cu;jpg;gb   

 

 

70>000 x 12 = 840>000 

 

 

 

 

240>000 

 

fop : tupaplg;glhj Cu;jpg;gb 50>000 x 12 = (600>000) 
tuptpjp Cu;jp/ Nghf;Ftuj;Jg;gb =  240>000 
tPl;L ed;ik 

tPl;LupikahsDf;F njhopy;jUdu; toq;fpa thlif 

                                 30>000 x 12  
  

 

 

= 360>000 

 

 

 

 

 

 

 

180>000 

 

tPl;bd; thlifg; ngWkjp     [80>000 + 80>000x30%]  = 104>000 
Nkw;$wpa ,uz;by; $ba ngWkjp      = 360>000 
rl;lj;jpd; tuk;Gf;F Vw;g                 = 180>000 
tuptpjp tPl;L ed;ik (Fiwe;j ngWkjp)      = 180>000 
Fwpg;G : nkhj;jr; rk;gsk; &. 1>800>000 ,Yk; $bajhFk; vdNt cr;r 

tuptpjp tPl;L ed;ik &gh. 180>000 MFk;.  

 

  

Copaepjpr;rl;l tUkhdk; 2.100>000 2>100>000 

   

thlif tUkhdk;   

nkhj;j thlif  24>000 x 12 288>000  

fop : cupikahsu; nrYj;jpa Nrhiytup 120>000 x 30% (36>000) 

 252>000 

fop : 25% jpUj;jw;gb 252>000 x 25% (63>000) 

 189>000 

  

thliff;F tplg;gl;l tPl;bd; Mz;Lg;ngWkjp 120>000 

fop : 25% jpUj;jw;gb 120>000 x 25% (30>000) 

Njwpa Mz;Lg; ngWkjp  

 

Fwpg;G : Njwpa thlif> Nj.M.ng ,Yk; $bajhFk; vdNt tuptpjp 

thlif Njwpa thlifahFk;. 

90>000 

thlif %yk; epajpr;rl;l tUkhdk; 189>000 189>000 

   

rPl;bOg;Gg;gupR   

Fwpg;G : ,g;gupRj;njhif &. 500.000 Mifahy; tuptpyf;F toq;fg;gLk;. -  

rPl;LOg;Gg; gupR %ykhd epajpr;rl;l tUkhdk; -  

nkhj;j epajpr;rl;l tUkhdk;   2>289>000 

fop : gpupT 32 ,d; fPo; fopg;gdTfs;  

,yq;if tq;fpapd; tPl;Lf;flDf;fhd tl;b  

 

125>000 

 

gpupT 32 ,d; fPo; nkhj;jf; fopg;gdT 125>000 (125>000) 

 



tupkjp tUkhdk;  2>164>000 

fop : gpupT 33 ,d; fPo; fopg;Gfs;    

a) tuptpjpg;gw;w gbfs; 500>000  

b) jfikf; nfhLg;gdTf;fhd gbfs;   

 

 

 

 

 

 

 

 

 

64>000 

 

i. Gw;WNeha;r; rq;fj;Jf;fhd fhR ed;nfhil 50>000 

ii. tho;ehs;f; fhg;GWjpf; fl;lzk;  86>000 

 

fopf;ff;$ba ngWkjp                 75>000 

                        

136>000 

Fwpg;G : tupkjp tUkhdj;jpy; 1/3 gq;F my;yJ &. 

75>000> ,tw;Ws; Fiwe;jJ. 

Copa tUkhdj;jpy; fopg;Gf;fs; ,y;iy. 

gpupT 32 ,d; fPo; fopf;fg;gl;ljd; gpd; kPjp cs;s 

thlif tUkhdj;jpy; jfikf;nfhLg;gditf; fopf;f 

KbAk;. (189>000- 125>000)  

 

Copa tUkhdj;jpy; NtW jfikf;nfhLg;gdTfs; 

Fwpg;G : &. 500>000 f;;F Nky; ngwg;gl;l Copa tUkhdk; (2>100>000 

– 500>000 = 1>600>000) my;yJ &. 100>000 ,jpy; Fiwthf njhif 

 

100>000 

 

 

gpupT 33 ,d; fPo; nkhj;jf; fopg;G 

 

664>000 

 

(664>000) 

 

tupkjp tUkhdk; 

  

1>500>000 

 

tpguk; $l;L (1) 

&gh. 

fop (-) 

&gh 

fzf;fpd; gb Njwpa ,yhgk;  1>274>000  

gq;fhsu; rk;gsk;    jpUkjp ngNuuh 240>000 

                 jpUkjp. /nghd;Nrfh 180>000 

420>000  

jpUkjp /nghd;Nrfhtpd; kfSf;F fzf;Fj; jahupg;Gf;F 

toq;fg;gl;l &. 18>000 (tupr;rl;lj;jpd; gb mDkjpjF nryT) 

 

- 

 

- 

jpUkjp ngNuuhTf;F nrYj;jg;gl;l tzpf thlif  

12>000 x 12) 
&. 144>000 (tupr;rl;lj;jpd; gb mDkjpjF nryT) 

  

%yjdr; nrhj;Jf;fspd; ngWkhdj;Nja;T 25>000  

gq;Flikapd; tFjF ,yhgk; 1>719>000  

 



tpguk; &gh 
 
gq;Flikapd; tFjF ,yhgk; 

 
1>719>000 

 
fop : tuptpjpaw;w gq;Flikapd; tFjF ,yhgk;/ tUkhdk; 

 
(1>000>000) 

 
gq;Flikapd; tuptpjp tFjF ,yhgk;/ tUkhdk; 

 
719>000 

 
gq;Flikapd; tUkhdtupg;nghWg;G (719>000 x 8%) 

 
57>520 

 

tpguk; jpUkjp.ngNuuh 
&gh 
 

jpUkjp./nghd;Nrfh 
&gh 

nkhj;jk; &gh 

 
gq;fhsu; rk;gsk; 

 
240>000 

 
180>000 

 
420>000 

 
kPjp ,yhgg;gq;F 

 
866.000 

 
433>000 

 
1.299>000 

 
nkhj;jk; 

 
1>106>000 

 
613>000 

 
1>719>000 

 
Vida tUkhdk; thlif 

 
144.000 

 
- 

 
144>000 

 



tpguk; $l;L (+) 
&gh 

fop (-) 
&gh 

 

fzf;fpd;gb tupf;F Kd; Njwpa ,yhgk;  

 

8>212>850 

 

 

fop : Vida tUkhdk; 

  

 

,ae;jpu mfw;wy; ,yhgk;                         120>000 

gpbg;G tup 10% fopj;j gpd; tl;b tUkhdk;            67>500 

 

- 

 

187>500 

 

rk;gsKk; $ypAk; (tupr;rl;lg;gb CopaUf;F nrYj;jg;gl;lJ) mDkjp jF 

nrythFk;) 

 

- 

 

- 

 

C.Nr.ep kw;Wk; e.ep (rl;lj;jpd; gb mDkjpf;fg;gl;l epjpaq;fSf;F kl;Lk;) 

 

- 

 

- 

 

Copa eyd; 

a) Copau;fspd; Mz;Lf;$l;lk; &. 25>000 (mDkjpf;fj;jf;fJ) 

b) kPjp Copa eyr;nryT (rl;lg;gb mDkjpf;fg;gl;lJ) 

 

 

25.000 

- 

 

 

- 

- 

 

gzpf;nfhilf;fhd Vw;ghL (Vw;ghLfs; mDkjpf;fj;jf;fhjit) 

 

84>755 

 

 

gzpf;nfhil nrYj;jpaJ 

  

54>000 

 

fzf;fpd;gb Nja;T (fzf;fPl;L Nehf;fpy;) 

 

688>000 

 

 

mDkjpf;fj;jf;f Nja;T (rl;lj;jpd; gb) 

  

426>500 

,ae;jpu mfw;wy; ,yhgk; 

tpw;gidg;ngWif  

 

 

 

120>000 

  

 

 

 

 

105>000 

fop : tupf;fhd gjptopf;fg;gl;l ngWkjp  

           fpuak;  

 

450.000 

 

fop : jpuz;l Nja;Tg;gb (450>000 x 12.5% x 4) 
,ae;jpu mfw;wypd; %yk; tuptpjp el;lk;   

(225>000) (225>000) 

 

 

(105>000) 

 

kpd; kw;Wk; njhiyNgrp (,it Fwpj;j tupkjpahz;Lld; njhlu;Ggl;l 

mDkjpjF nrythFk;) 

 

- 

 

- 

 

Cs;Su; Nghf;Ftuj;J (tupr;rl;lj;jpd; gb mDkjpjF nryT) 

 

- 

 

- 

 



 

rl;lf;fl;lzk; (rl;lj;jpd; gb &. 12>000 ngWkjpahd m.K.fld; kPsg; 

ngWif mDkjpjF nryT) 

  

 

ed;nfhil (tUkhd ciog;Gf;fhf Vw;glhjJ) 

 

125>000 

 

 

Kj;jpiu tup 

a) gq;F toq;fy; kPJ Kj;jpiu tup (mDkjpf;fj;jfhjJ) 

b) ngWtdT &. 8>000 kPJ Kj;jpiu tup (,J rl;lg;gb mDkjpjF 

nryT) 

 

22>500 

 

 

jpUj;jKk; guhkupg;Gk; (%yjdr; nryTfis cs;slf;ftpy;iy vdNt 

KOJkhf mDkjpf;fj;jf;fJ)  

  

 

tpsk;gur;nryT 

a) ntspehl;L Clfk; &. 250>000 (,J Vw;WkjpAld; njhlu;Ggl;lJ vdNt 

mDkjpf;fj;jf;fJ) 

b) cs;Su; Clfk; 25>000 x 25% 

 

 

 

 

6>250 

 

Iaf;fld; kw;Wk; m.K. flDf;F Vw;ghL 

a) gjptopf;fg;gl;l (m.K.fld; gz;lh vd;w thbf;ifahsu; 

Kwptile;jJ). (,J rl;lj;jpd; gb mDkjpjF fopg;G) 

  

 

b) m.K.flDf;F nghJ Vw;ghhL – fld;gl;Nhupy; 5% 

 

94>325 

 

 

c) Kd; Mz;L gjptopf;fg;gl;L kPsg;ngw;w m.K.fld; (fzf;fpy; 

Nkw;nfhs;sg;gl;lrPuhf;fk; tupNehf;fpy; mDkjpf;fj;jf;fJ) 

  

 

Fj;jif tl;b 

 

15>200 

 

 

Fj;jifg;gbfs; 

nkhj;j Fj;jifg; ngWkjp  

jtizg; gzk;  

Fj;jifg;gb  

mDkjpjF Fj;jifg;gb (Fiwe;jJ)  

 

 

5>800 x 36 = 208>800 
5>800 x 11 = 63>800 

(208>800) x 1/5 = 41>760 
= 41>760 

  

 

 

 

 

41>760 

 

tq;fpf; fl;lzk; (,it %yjdr; nryTfs; my;yJ %yjdr; 

nrhj;Jf;fSld; njhlu;Gglhjjhy; mDkjpf;fj;jf;fit) 

 

 

 

 

  

9>273>800 

 

814>760 

  

(814>760) 

 

 

epajpr;rl;l/ rPuhf;fg;gl;l tzpf ,yhgk; 

 

8>459>120 

 

 



tpguk; &gh &gh 

 

epajpr;rl;l/ rPuhf;fg;gl;l tzpf ,yhgk; 

 

8>459>120 

 

 

gpbg;Gtup   fopf;fg;gl;l tl;b tUkhdk;;  

 

67>500 

 

 

 

75>000 

 

$l;L : gpbg;G tup           (67>500 x 1/9)  7>500 

nkhj;j tl;b tUkhdk; 75>000 

 

a) nkhj;j epajpr;rl;l tUkhdk; 

 

8>534>120 

 

8>534>120 

 

fop : gpupT 32 ,d; fPo; fopg;G 

2012/13 Mk; tupkjpahz;bd; el;l Kd; nfhzu;T                     

3>225>500 

epajpr;rl;l tUkhdj;jpy; (8>534>120 x 35%)  2>986>942 

 

fopf;ff;$ba el;lk; (Fiwe;jJ) 

 

2014/15 Mk; tupkjpahz;bd; el;l Kd; nfhzu;T  

2012/13 Mk; tupkjpahz;bd; el;lk;          3>223>500 

elg;G tupkjpahz;bypUe;J                (2>986>942) 

2014/15 Mk; tupkjpahz;Lf;F Kd; nry;tJ    236>558 

 

b) tupkjp tUkhdk; 

 

fop : gpupT 33 ,d; fPo; fopg;G 

 

muRf;fhd ed;nfhil 

 

Fwpg;G: mDkjp. mwf;fl;lisfSf;fhd nghUs; ed;nfhil 

(jfikf;nfhLg;gdT my;y) 

 

c)  tuptpjp tUkhdk; 

 

 

 

 

 

 

 

2>986>942 

 

 

 

 

 

 

 

 

 

 

 

100>000 

 

 

 

 

 

 

 

 

 

 

 

 

(2>986>942) 

 

 

5>547>178 

 

 

 

 

 

(100>000) 

 

 

5>447>178 

 

 



tpguk; &gh 

 

a) tupkjp tUkhdk; kPjp tUkhd tup  

   tl;b tUkhdk; kPJ  

   tzpf ,yhgk; kPJ (5>447>178 – 75>000) 
   tuptpjp tUkhdk; kPJ tUkhd tup 

 

 

75>000% x 28% = 21>000 
5>372>178 x 10% = 537>218 

= 558>218 

 

 

 

 

 

558>218  

Fwpg;G : ,t;tzpfj;jpd; Gus;T &. 300>000>000 ,Yk; FiwthifahYk; ,J 

rpwpa eLj;ju tzpfk; MifahYk; 10% rYif tup cupj;Jz;L  

(Vw;Wkjp tzpfq;fSf;F ,J 12%) 

 

b) gfpug;gl;lgq;fpyhg tup                        250>000 x 10% 

 

25>000 

 

nkhj;j tupg;nghWg;G  

 

583>518 

fop : tuptuT 

tl;b kPjhd gpbg;G tup   7>500 

gq;fpyhgk; kPjhd tup   25>000  

nkhj;j tupg;nghWg;G    32>500 

 

(7>500) 

 

c) kPjp tup nrYj;j Ntz;baJ 

 

575>718 

 


